	
	
	
	
	
	PROBLEM 20.2A

	
	
	
	
	
	BLASTER CORP.

	
	
	
	
	
	

	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 

	a.
	Sales price per unit:
	 

	 
	 
	Budgeted costs
	

	 
	 
	Add: Budgeted operating income
	

	 
	 
	Budgeted sales revenue
	

	 
	 
	Sales price per unit 
	

	 
	 
	 
	 
	 
	

	b.
	(1)
	Total fixed costs:
	

	 
	 
	 
	Manufacturing overhead 
	

	 
	 
	 
	Selling and adminstrative expenses 
	

	 
	 
	 
	 
	Total fixed costs
	

	 
	 
	 
	 
	 
	

	 
	(2)
	Variable costs and expenses per unit:
	

	 
	 
	 
	Direct materials
	

	 
	 
	 
	Direct labor
	

	 
	 
	 
	Manufacturing overhead 
	

	 
	 
	 
	Selling and administrative expense 
	

	 
	 
	 
	 
	Total variable costs per unit
	

	 
	 
	 
	 
	 
	

	 
	(3)
	Unit contribution margin:
	

	 
	 
	 
	Sales price per unit
	

	 
	 
	 
	Less: Variable costs per unit [from (2)]
	

	 
	 
	 
	Unit contribution margin
	

	 
	 
	 
	 
	 
	

	 
	(4)
	Number of units required to break even:
	

	 
	 
	 
	Fixed costs [from (1)]
	

	 
	 
	 
	Contribution margin per unit [from (3)]
	

	 
	 
	 
	Number of units required to break even 
	

	 
	 
	 
	 
	 
	 

	
	
	
	
	PROBLEM 20.6A

	
	
	
	
	
	
	
	
	
	
	PRECISION SYSTEMS

	
	
	
	
	
	
	
	
	
	
	

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 a.
	 
	Variable costs per unit before 15% increase in the cost of
	 
	 

	 
	 
	 
	direct labor
	 
	 
	 
	

	 
	 
	Increase in cost of direct labor
	 
	

	 
	 
	Variable costs and expenses per unit 
	 
	

	 
	 
	 
	after 15% increase in the cost of direct labor
	 
	

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	Because the contribution margin ratio of 40% is required,
	 
	 

	 
	 
	the variable costs of $63 per unit must equal 60%
	 
	 

	 
	 
	of sales price after the wage increase.
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	New sales price
	 
	 
	

	 
	 
	Sales price before increase
	 
	

	 
	 
	Required increase in sales price per unit
	 
	

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 b.
	 
	Unit contribution margin:
	 
	 
	 
	 

	 
	 
	 
	Sales price per unit
	 
	 
	 
	

	 
	 
	 
	Less: Variable costs per unit 
	 
	

	 
	 
	 
	 
	following 15% increase in direct labor cost (part a)
	 
	

	 
	 
	 
	Unit contribution margin
	 
	

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	
	
	
	
	
	
	
	
	
	

	Sales volume required to maintain current operating income:

	
	
	
	
	
	
	
	
	
	
	

	Sales Volume
	
	Fixed Costs + Target Operating Income
	
	

	
	
	Unit Contribution Margin
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	= units

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	 c.
	 
	 
	 
	 
	 
	 
	 
	 
	Current
	After

	 
	 
	 
	 
	 
	 
	 
	 
	 
	Capacity
	Expansion

	 
	 
	 
	 
	 
	 
	 
	 
	 
	(20,000 Units)
	(25,000 Units)


	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	Total contribution margin ($37 per unit)
	
	

	 
	 
	Less: Fixed costs
	 
	 
	
	

	 
	 
	Operating income at full capacity
	
	

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	*$390,000 + additional depreciation per year on new 
	 
	 

	 
	 
	machinery
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	PROBLEM 21.2A

	
	CRAFTY TOOLS

	 
	 
	 
	
	
	

	a.
	 
	 
	 
	 
	 

	 
	 
	 
	Make the
	Buy the
	Incremental

	 
	 
	 
	Motors
	Motors
	Analysis

	 
	Manufacturing costs for 10,000 motors:
	 
	 
	 

	 
	Direct materials
	
	
	

	 
	Direct labor
	
	
	

	 
	Factory overhead:
	
	
	

	 
	Variable 
	
	
	

	 
	Fixed 
	
	
	

	 
	Cost to purchase 10,000 motors at $20 each
	
	
	

	 
	Totals
	
	
	

	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 

	
	
	
	
	
	

	Based upon the above analysis, the company will save $87,500 if it buys the motors from an outside source.

	
	
	
	
	
	

	 b. 
	Effect of alternative use of factory space:
	 
	 
	 

	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 

	 
	Incremental benefit of buying motors from an outside source (see part a)
	

	 
	Add: Contribution margin of alternative use of factory space 
	

	 
	
	 
	 
	

	 
	Incremental benefit of buying motors from an outside source 
	

	 
	and using space to produce additional power trimmers
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	SOLUTIONS TO PROBLEMS SET A

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	PROBLEM 23.1A

	
	
	
	
	
	
	
	
	
	
	
	RENFROW INTERNATIONAL

	
	
	
	
	
	
	
	
	
	
	
	

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 a.
	Planned production of finished goods (in units):
	 
	 

	 
	 
	 
	Budgeted sales
	 
	

	 
	 
	 
	Add: Finished goods inventory, end of quarter
	 
	

	 
	 
	 
	Units budgeted to be available for sale
	 
	

	 
	 
	 
	Less: Finished goods inventory, beginning of quarter
	 
	

	 
	 
	 
	Planned production of finished goods
	 
	

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	

	 b.
	Cost of finished goods manufactured:
	 
	

	 
	 
	 
	Planned production of finished goods (in units—part a)
	 
	

	 
	 
	 
	Multiply by: Budgeted manufacturing cost per unit
	 
	

	 
	 
	 
	Cost of finished goods manufactured 
	 
	

	 
	 
	 
	 
	
	 
	

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	

	 c.
	Finished goods inventory at quarter-end (average cost):
	 
	

	 
	 
	 
	Finished goods inventory, beginning of quarter
	 
	

	 
	 
	 
	Add: Cost of finished goods manufactured (part b)
	 
	

	 
	 
	 
	Budgeted cost of goods available for sale
	 
	

	 
	 
	 
	Divide by: Units budgeted to be available for sale (part a)
	 
	

	 
	 
	 
	Average cost per unit 
	 
	

	 
	 
	 
	Finished goods inventory, end of quarter
	 
	

	 
	 
	 
	  
	 
	

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	

	 d.
	Cost of goods sold:
	 
	

	 
	 
	 
	Budgeted cost of goods available for sale (part c)
	 
	

	 
	 
	 
	Less: Finished goods inventory, end of quarter (part c)
	 
	

	 
	 
	 
	Cost of goods sold
	 
	

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	

	 
	 
	 
	Alternative computation
	 
	

	 
	 
	 
	Budgeted sales,       (part c)
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40 Minutes, Strong


	
	
	
	
	
	
	
	
	
	
	PROBLEM 23.4A

	
	
	
	
	
	
	
	
	
	
	
	POTTER CORPORATION

	
	
	
	
	
	
	
	
	
	
	
	

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 a.
	Budgeted cash receipts for the quarter:
	 
	 

	 
	 
	Collections on prior period receivables
	 
	

	 
	 
	Add: Collections on 65% of $500,000 sales
	 
	

	 
	 
	Total receipts collected during the quarter
	 
	

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 b.
	Payments of current payables budgeted for the quarter:
	 
	 

	 
	 
	Beginning current payables
	 
	

	 
	 
	Add: New payables during quarter
	 
	

	 
	 
	Total payables
	 
	

	 
	 
	Less: Ending current payables 
	 
	

	 
	 
	Payments on current payables
	 
	

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 c.
	If beginning prepayments equal the ending prepayments,
	 
	 

	 
	 
	  the amount expired during the period equals the 
	 
	 

	 
	 
	  prepayments made during the period, or $20,000.
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 d.
	Cash budget:
	 
	 
	 

	 
	 
	Beginning cash
	 
	

	 
	 
	Add: Cash received from customers (part a)
	 
	

	 
	 
	Cash available
	 
	

	 
	 
	Less:
	Payments on current payables (part b)
	 
	

	 
	 
	 
	 
	 
	Prepayments (part c)
	 
	

	 
	 
	 
	 
	 
	Debt service (interest and principal)
	 
	

	 
	 
	 
	 
	 
	Taxes
	 
	 
	

	 
	 
	Ending cash balance (deficit)
	 
	

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 e.
	
	 
	 

	 
	 
	
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 f.
	
	 
	 

	 
	 
	
	 
	 

	 
	 
	
	 
	 

	 
	 
	
	 
	 

	 
	 
	
	
	
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 


